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Q 0|74 Jstmd| RXp=X} ZAF0o| 2FXFR LI (It's an abbreviation for
Grand Prix auto racing.)
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HAOf: 20| SESt= K| Ha=Hi X} (Literary character APB)
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SAHX Q. HCHst =0|2tM = X[ 7| O &Lt (Wanted for general
evil-ness; last seen at the tower of Barad-dur; it's a giant eye, folks.

Kinda hard to miss.)
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man'’s perfect 2008 Olympics, losing to him by one hundredth of

a second.)
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Brute-Force Tree Search
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Brute-Force Tree Search
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Monte-Carlo Tree Search
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Monte-Carlo Tree Search
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Performance = 11.4 GFLOPS

.
Galaxy Sé6: GeForce GTX960: ot (A 108 7|12):
34.8 GFLOPS 2400 GFLOPS 1202 CPUs + 176 GPUs
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=124 (Deep Learning)
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Deep neural network

Deep neural network
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QtTit 11 = MCTS + Breadth Reduction
+ Depth Reduction

d=1 d=2 d=3
M7t =e2|StCt.

/- Value Network (7}X|ah)

\ M7t 928t

Policy Network
(&I

. 32



O] CHZ2| 2|0

. "OIZ Ex|o| Opx|at B2

Al A7 XHiE> Aelvr

« "HAE RA0AM

WM%%
-
w_&_:%
N R
= ol ™
K 7 Kk KO
ol T 7 N
LILl L
m._:_l:i._v
LR o
Rmo_:ﬁe
of Il o2 -
F o o B
= SUomrould
X0 & Jo o
KO == T py
_._._ﬁﬂ._ul_.A o]
of Rl i o
pg_l_lm_u._o
Ogm..__/m
<4 | ol ~d
~ KM &l o
o__=x_._|_|_|:|_r
ml o] ol
NS T ©

A O|Ct”

33



Google DeepMind
Challenge Match

8 - 15 March 2016
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« Toy problem vs. real-world problem
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